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ST ABC H, WRIUT A = 135°, 1T CA = 5V2 OH R AB = 7ﬁn°r%|Eaﬁw%nvr AC
3 AB Tt o A foig @) EF Y oas (@t #) war £

In AABC, ZA =135°, side CA = 5\/2 cm and AB =7 cm. E and F are midpoints of sides
AC and AB, respectively. The length of EF (in cm) is ?

SSC CHSL Pre (12 April 2021) Shift-1
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Teh I <hl SITATE AB 3R CD 9T &9 | P W Ao &Il &l AB = 6 WHT, CD =3
[, A PD Y wraTs (@Y ) e e

Chords AB and CD of a circle intersect externally at P. AB=6 cm,. CD =3 cm and PB=4 cm,
then find the length (in cm) of PD ?

SSC CHSL -Pre- (08 July 2019) Shift-2

a0 T o
NN NN SN W



912151 SSC 2023 AYNITE

Foreger <6 Sy 56 2wl 90 WY 3T 106 ATt §, TEs ufeg Hr afifr fpar 3?

The sides of the triangle are 56 cm, 90 cm and 106 cm, the circumference of its

circumcircle is?

SSC CGL - Mains - (12 Sep 2019)
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AABC U, WT{ggeRTd AD, BE 31 CF foig O W HeTdt €1 AABD h &1t <h AAOE ED

ST § STTUTA T %‘?
In AABC, the medians AD, BE and CF meet at O. What is the ratio of the area of AABD
to the area of AAOE? SSC CGL - Mains - (12 Sep 2019)
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& TS TR |, PQ = PS = SR 3T LQPS = 40° &, a1 LQPR (%ﬁrfr)aa-rnnam%‘»
In the given figure, PQ = PS = SR and ZQPS = 40°, then what is the value of ZQPR (in

degrees)? SSC CGL - Mains - (19 Feb 2018) Shift-I
P
\,.\:/ 3§ :' :—" ‘\\\ ) \\jﬂv/
C/\\L %/) a. 45
b. 60
c. 75
d. 50



& TS TR |, AQ = 4V2 BT, QC = 62 &Y, 37 AB = zoﬁﬁr%mﬁPQ,Bc%mﬂm
. @ PB &1 | (& ) T £

In the given figure, AQ = 4v2 cm., QC = 6v2 cm., and AB =20 cm. If PQ is parallel to

BC, then what is the value (in cm) of PB? SSC CGL - Mains - (19 Feb 2018) Shift-1
A
\,.\:/ 3§ :' :—" \ ) \\j..,/
y Q C/\\'— —5/. > a. 8
b. 12
c. 6
d. 15
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AABC ~ APQR, AABC 3T APQR o SISTheT SHAIT: 64 BHT” AR 81 BHT” &, =
PT shusT: AABC 3R APQR <t Wifearehtd &1 afe PT = 10.8 &Y, 41 AD = 2

AABC ~ APQR, the areas of AABC and APQR are 64 cm” and 81 cm?, respectively and
AD and PT are the medians of AABC and APQR, respectively. If PT = 10.8 cm, then AD

=4 SSC CGL Pre (13 August 2021) - Shift I
\,.\:/ 3§ :' :—'l _\\ ) \\jﬂv/
C/\\'— %/) a. 9
b. 12
c. 84
d. 9.6



=Y 1919751 SSC 2023 AUNIE

PQRS U ThIT I 8 ATG LP, ZR T4 TATE, X LS, LQ HT3TATE,
ZR T Siaa T 27

PQRS is a cyclic quadrilateral. If ZP is 4 times ZR, and £S is 3 times £Q, then the

average of £ZQ and £ZR is ? SSC CPO (24 November 2020) Shift-I1
\,.\:/ 3§ :' :—" _\\ ) \\\'/..v/
(\\" '&) a. 45.7°
b. 81°
c. 90°
d. 40.5°
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Teh 99 § AB 3R DC 3t a0 | T AB 3R DC ol AT 9¢Td & a1 98 foig Pmﬁlﬁ%mﬁ:m
— 5.6 AT, PB = 6.3 A} i AB = 7.7 &Y, &Y CD Y wiars femat 22

In a circle, AB and DC are the two chords. When AB and DC are produced. They meet at P. If
PC=5.6 cm, PB=6.3 cm and AB = 7.7 cm, then the length of CD is?

SSC CGL - Mains - (12 Sep 2019)
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